
2

7

2

,
3

2

5

P

F

 
5

7

A

2

7

2

,
3

0

0

P

F

 
5

7

2

7

2

,
2

7

5

P

F

 
5

6

A

2

7

2

,
2

5

0

P

F

 
5

6

2

7

2

,
2

2

5

P

F

 
5

5

A

2

7

2

,
2

0

0

P

F

 
5

5

2

7

2

,
1

7

5

P

F

 
5

4

A

2

7

2

,
1

5

0

P

F

 
5

4

2

7

2

,
1

2

5

P

F

 
5

3

A

2

7

2

,
1

0

0

P

F

 
5

3

2

7

2

,
0

7

5

P

F

 
5

2

A

2

7

2

,
0

5

0

P

F

 
5

2

2

7

2

,
0

2

5

P

F

 
5

1

A

2

7

2

,
0

0

0

P

F

 
5

1

2

7

1

,
9

7

5

P

F

 
5

0

A

2

7

1

,
9

5

0

P

F

 
5

0

2

7

1

,
9

2

5

P

F

 
4

9

A

2
7
1
,
9
0
0

P

F

 
4
9

2
7
1
,
8
7
5

P
F

 
4
8
A

P
F

 
4
8

2
7
1
,
8
5
0

P
F

 
4
7
A

2
7
1
,
8
2
5

2
7
1
,
8
0
0

P
F

 
4
7

P
F

 
4
6
A

2
7
1
,
7
7
5

P
F

 
4
6

2
7
1
,
7
5
0

1
.
6

2
.
1

0
.
6

1
.
8

0

.

7

0

.

9

0.5
0.7

0

.
5

0

.
5

1

.

0

0
.
6

Z

a

č

á

t
e

k

 
n

á

s

t
u

p

i
š

t
ě

k

m

 
2

7

2

,
1

6

1

k

m

 
2

7

2

,
3

3

1

K

o

n

e

c

 
n

á

s

t
u

p

i
š

t
ě

Z

a

č

á

t
e

k

 
n

á

s

t
u

p

i
š

t
ě

k

m

 
2

7

2

,
1

6

1

k

m

 
2

7

2

,
3

3

1

K

o

n

e

c

 
n

á

s

t
u

p

i
š

t
ě

2

7

2

,
3

2

7

2

,
2

2

7

2

,
1

2

7

2

,
0

2

7

1

,
9

271,8

n=8,00V; lp=87,200m; m=0,532m; t=203,319m; lo=87,246m; kub.par.

n=8,02V; lp=87,400m; m=0,534m; t=203,410m; lo=87,446m; kub.par.

V=100km/h; p=109mm; I=88mm; alfa=33,09627g; do=224,548m

r=600m
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SITUACE M 1:1000

OPĚRNÉ ZDI V KM 271,793 , 271,884 , 272,148 a 272,261

SMĚR OSTRAVA - SVINOV

SMĚR OPAVA

signalizační zařízení

nadzemní vedení (bez izolace)

LEGENDA:

ČD Telematika

osvětlení


